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DENGI1
B.A./B.Com/B.Sc./B.H.M./.BBA/BBM DEGREE
EXAMINATIONS, JUNE/JULY - 2019
First Year
ENGLISH PAPER - I (Part - I)
Time : 3 Hours Maximum Marks : 70
SECTION - A
(Analysis Skills)

Q1) a) Read the following passage and answer the questions that follow. S x1=5)
Opera refers to a dramatic art form, originating in Europe, in which the emotional
content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor’s
dramatic performance is primary, and the music plays a lesser role. The drama in
opera is presented using the primary elements of theater such as scenery, costumes
and acting. However, the words of the opera, or libretto, are sung rather than spoken.
1) What are the different elements of a theater?

i)  What else is conveyed to the audience apart from music?
ii))  What is libretto, how is it different from speaking?
iv)  How is a musical theater different from an opera?
v)  Give the antonym for ‘contrast’.
b)  Read the following passage and answer by choosing the right answer Sx1=595)

Dolphins are regarded as the friendliest creatures in the sea, stories of them helping
drowning sailors have been common since Roman times. The more we learn about
dolphins, the more we realise that their society is more complex than people
previously imagined. They look after other dolphins when they are ill, care for
pregnant mothers and protect the weakest in the community, as we do. Some
scientists have suggested that dolphins have a language but it is much more
probable that they communicate with each other without needing words. Could any
of there mammals be more intelligent than man?Certainly the most common
argument in favours of man’s superiority over them, is that we can kill them more
easily than they can kill us is the least satisfactory, on the contrary, the more we
discover about these remarkable creatures, the lees we appear superior when we
destroy them.

1)  Itis clear from the passage that dolphins .
a)  are the most powerful creatures that live in the oceans.
b)  Have a reputation for being friendly with humans.

c) are proven to be less intelligent than once thought.



02)

b)

iii)

iii)
v)

v)

d)  are capable of learning a language and communicating with humans.
What is the antonym for ‘complex’?

a) intricate

b)  complicated

c) multiple

d)  straight forward

The fact that the writer thinks that we can kill dolphins more easily than they
can kill us

a)  proves that dolphins are not the most intelligent species.

b)  means they are better adapted to their environment than we are

c) does not mean we are superior to them

d)  show that they have a sophisticated form of communication.

what is the synonym for ‘superior’?

a) Lofty

b)  humble

c) inferior

d) modest

One can infer from the reading that .

a)  dolphins are quite abundant in some areas of the world.

b) it is not usual for dolphins to communicate with each other.

c) dolphins have some social traits that are similar to those of humans

d)  dolphins have skills that no other living creatures have such as the
ability to think.

Correct the following sentences. (5x1=5)
why did you not threw the bag away?

the intruder stood quietly for few moments.

He found the gold coin as he cleans the floor.

She cooks, washes dishes, does her homework and then relaxing.

They are not beware of all the facts.

Rewrite as directed :- (5x1=5)

Sumith picked up the shoes .
(Change the Voice)

The boy was diligent, so the teacher praised him . (change into simple
sentence)

Their family went to kerela for a vacation. (add a question tag)
She said, It is really sultry today.

(change into indirect speech)

susan has finished her homework.

(change into negative sentence)



03)

c) Change into direct speech : 2x1=2)
1) She said that she failed the exam.

il)  Raju told me to clean the room.

d)  Fill in the blanks with correct forms of verbs given in the brackets. (5x1=5)
1) The doctor told himto stop ~ (smoke) and take a trip.

i)  They (come) here next week to visit my new office.

iil)) Tamtiredof  (work) here.

iv) I have decided ( study) more and improve my overall average.
v)  Could you (help) me please?

e)  Fill in the blanks with suitable words given in the end. (5x1=5)
1) The roof on the house .

i)  did you the mistake in your homework?
i)  The house along the trail.
iv)  The lightning the tree.
v)  She for her friend at the mall.
(Struck, fix waited, leaks, trotted)

f)  Rewrite the following set of jumbled sentences to make a coherent passage. 3)
1) She wanted to serve mankind.
i1)  She took birth on August 26" 1910 at skopje.

iii)  She served the poor, diseased and needy people of the Nation till her last
breath.

iv)  Mother Teresa’s real name was Agnes Gonxha Bojaxhiu.

v)  On December 1, 1928, Sister Teresa went to India.

g)  Write three exchanges of dialogue between a teacher and a student requesting for
leave.(3)

h)  Write a paragraph using the following units. 3)
new neighbour -name -age looks -family background-vocation-peculiar habits - How
others view him/her - Attitude to life - Your opinion about person.

1)  Write in about 100 words on any one of the following. 3)
i)  Effects of not getting enough sleep.

i)  Why reality shows are popular.
iii)  Effects of computers on our daily lives.
SECTION - B
(Descriptive Skills)

Write an essay on one of the following. (1x5=5)

a)  Bring out the humour in James Thurber’s “The Topaz Cufflinks Mystery”.

b)  Justify the title, “Blood, Toil, Sweat and Tears”.

c)  Summerize the prose “A chat with Mrs. Smiles”.



Q4) Write short notes on any three of the following (3x3=9)

05)

006)

a)  What is the central theme on “Sonnet to Science”?.

b)  Summarize the poem “Tables Turned”.

c)  How does the poet persuade us against deforestation in the poem “On killing a tree”.

d)  Justify the title, “Laugh and Be Merry”.

e) Describe Milton’s reflection of himself in the poem “On his Having Arrived at the
Age of Twenty-three”.

Write an essay on One of the following. (1x4=4)

a)  Describe the deceit and deception of vera, in “The Open Window”.

b)  Discuss the appropriateness of the title, Lemon, Yellow and fig”.

c) elaborate on the hardships faced by the old refugee.

a)  Explain any two of the following : 2x2=4)
1) come then, let us go forward together with one united strength.
i) ‘I made some money yesterday’ he explained. ‘Now you will be paid

regularly’.

iil)) We owe that miracle to science ; and it is a miracle.

b)  Explain any one of the following : (1x4=4)

1) The song of her whistle screaning at curves of deafening tunnels, breaks
innumerable bolts.

il)  God made heaven and earth for joy he took retryme made them, and filled them
with the strong red wine of his mirth.

000
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Q1) 55200 TS 28 Drgdd HEBTY TSy EAHN00. (6)
a)  SoSue Prosoi Sodoes $edelSold Sy

02)

03)

b)

558 G0 2D e Soederdon $reded S0l T
(53 SEI0ws B F5020S k3 Kosioosy Bowods
B5HOFBE0e0 EoBTE, BIKS TEGRROOO WIS
e eals €57 E5AK0S PO BOLECTOND BSOS
&Tests SOTHBOR0 BT8O DEF0PF0Ed Aoy S
57ea000 (DB DB Koo MBS SojR0
VeSS o 58 Jodh DBEK HPRG

s 808 IS ‘@’ grro Huod Bodoedd es o Ha0d Bodoedd BOGTy Bard 550
a0, (4x2=8)

a)

Q9 — PN
JedAdioea STed SeoedoBend E800 HEND 0

b) T @riend Aodds 280G
C)  FeIodoer edEed
d)  2ASH0N Kodiogd Soen DBEB> AES
&3 — PN
a) 500N B0 ToddTs
b) TS eore 355 ee SO
c) 0@ FRH oS By
d)  5Ge0 Bed ro BT 5650
&s Bod TS ‘@’ grro $00& eXTIS ‘@’ grro Kok ST TEISTY DITEENN
EPO50500. 2x6=12)

a)
b)

a)

Q9 — PN
0080 Ke330500:50 DS5O0H[00.
BegioosrtRD HyTrostnsy DHODH.

&3 — PN
(DG HoBHRER[000 DDO0DRI.



04)

05)

006)

Q7)

b)

35590 Moeliereisy Jegd DBOD 2080 ADO0PH0.

55 800 T ‘@’ grro S00d e5mdR ‘e’ griio D008 LETRE BETEREH0 EPAhbs.

2x6=12)
Q9 — PN
a) 3% 998 @0 DoeT SBoTod.
b)  EEEH0 TGO CAbR DL O $oBFR.
&3 — PN
a)  Sog0 CPRIBE RS B0 SIE &S Frotsorgd) 10y Beood.
b) DTG BT TS5 DHoDD D558 D3Bosod.
52 (808 7S’ Booedd BRTEPRHBL) FEPOKIN0. 2x6=12)
a)  Sords S5 $508 HOHI0T T Fool PB HKwD IN00DH0L.
b)  SordsHEed 5EHerd St JH00D.
C) SordENHe TRTPEsHR JBO0HD0.
d)  Sergeddn® TS50 DHBoR.
&2 (300 V& 0803 DEBD PR B0 ([FAHIB. 5x2=10)
a) B
b)  FEEES
€)  eabybenn
d) 8dSohen
) R8s
) s
g) DO
) S50
i) Swrors
&2 (300 I8 00038 YT EFR0 (TR BHITH5000 DHOCB0. 5x2=10)
a) Q&) SoLE Beotoed
b)  BoBHII[0e0
C) LS BEo0e0
d) Jreodorces
€)  TPONIOw
f)  Homresseo
g  eGENy
h)  So5trsse
) Sesg 5058000

)

@ﬁe‘%;ﬁo\)
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Answer the following
Q1) a) Describe the status of people in the rule of Dasaratha? Bx8=24)
GIRIR IS TSTreT fHfeT faguye 2
OR / 31gar

b)  Explain the Qualities of fools as described by VIDURA in 300 words?
HEICHoT fAGR0T TR FPfor Bifel ATUTeT ITOIdTIo1 2 ATfel 300 FAUGY faergad 2

Q2) a) Describe the words of the bachelor to divert the mind of Parvathi?

ardeet: 71 PRI SRR e U 2

OR / 31gar
b)  Write in brief the story of Dasakumara Charita?
GAGHRANIRY Ufead 9T forea 2
03) a) Describe the six seasons as per the prescribed Text?
TSI TEIFT 01K 2
OR / 31gar
b)  Write the story of “Mritojjeevanam”™?
essfast ATRTRETS R 2
04) Answer any four (4) of the following with reference to context. 4x3=12)
HACATRBIAGH I |

a) 19T FAJLTSY: AHAEUNTH: |
b)  aenRReRidYg Fuae ufterg|
¢) o SIafel Aol a1 Afeoid W

d) e elpHuTH|

e) IRREE: VeI Je|

f)  oHLMAYR of JuAfch|

g) forfdsonfd Fdfor sefearm et wom|
hy  3TFHA Brefel GRIpadeH! qAH|




05) Translate any two into English or Telugu :
S STTCLIHTIRIT aT SFTHTSRIT a SfojdTed |
TR eI o SATeifod] Hol AT Aford, R

06)

a)

b)

d)

a)

b)

d)

2x3=6)

Write the forms of any three in the other numbers of the given persons.(3 x 2 =6)

PARARY SToffod A & Ufvdd T ||

8 TSToIT I Y= AT HcATepoT |

JRafFreel TRrlG: afogdaReaT edid 1|
JAR S peafer Fd7 fafped |

feR AT eIl 21 @t sae# ||

31eTTEa: Sferfer Jrgeet agHT |

e feafifer Aeaar sRieH: 1|

SITOT TAEIPIRY, ENTTBITOT forict

1) s 2) 3PRBq
3) fossg 4) TRq
5) e 6) g
7y od 8) d
Decline any four as per the case ending.
HAQUTO GHT Y, 2TeqRaTior forzd |

1) @aq 2) HAd

3) ol 4) fUaw

5) | 6) T

7) AW 8) ofE
Combine any four Sandhi’s.

HICATRBAET |

1) A+ st 2) od + 3gd:
3) dar+ug 4y 3l +3m
5 O+ 3@ 6) TG+ ool
7) T + HIH 8) 3 + 3fea:
Dissolve any three :

FATOT fasTgaTater forad |

1) forsamag 2) IRIN:
3) =GO 4) oG
5)  3FsaH 6) PRI
7)  ofiaro 8) Y|

“4x2=8)

“4x2=8)

(3x2=6)
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DHINI1(NR)
B.A./B.Com./B.Sc./B.H.M./B.B.A/B.B.M. DEGREE
EXAMINATION, JUNE/JULY - 2019
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HINDI (Paper —I) (NR)

Time : 3 Hours Maximum Marks : 70

SECTION — A

01) f&agt dter &t Fegef Al =en Hiferl (3x3=9)

02)

03)

04)

05)

a)

BHIcTSl BT JTEITID PR i 1 3, A 3APb foT JAfdifer Bt 3are awga &b Aeer A
BH HATTE 181 Bl |

b) I B I B AW foreay 21 N s Sl B B, I s R b @
foroga off grar |
¢) AR St I SRt far uS Hfa 13X & & qufet et e
d)  PIIGRT AR HITT BT JFIV T HRCATT Ix] 3, 6 bt a2l BT STRATEPR! oTg |
e) TYH G AW I, T forbet 31T, M FAIA 3 Fof Jorett qieht| I AP ar e off
B IRBIY st BT It G 37t &ifOT G Gabe 35 T
SECTION - B
fobadt vep Ut @1 AR fAQwdnaT Afgd felRaul (10)
a) 3fafe
b) SR A
{5t ves uTe o1 AR faQivdnan Afd felaul (10)
a) 3ol A Il UGt ?
b) ool 3R Serfer
fobedt v wgTelt T AT faLwaratt afed foifam | (10)
a) 3GH &I T
b) % & gEdl
a) feodl 31eaud Bt siiept I foru wemee & a7 IR uf ferflam | (10)
3rerat
b) o=t UTgUEHH Bt gEID! & foTg 3T siel |



006)
a)
b)

c)
d)

Q7)

08)

fasegt @ U9aT T SiaTd g ufhat & ferfdam
TeaTTRTg 3T afHr-femror ferf3a |
FIBRE Beloll BT a1 3627 572

FRAoTe Beleil BT 2t bt ArefasdT R U SIferu|

Favey &1 9 femo Sifer

A T2l BT IR et 3rforarS &1

B3 Bfdar forma 1 (Fforrs agerese folau))

ST TR HATdT &1 (FI0els SGaids filaul)

qicTotT I HTSTaaH o sRIT| (Faredy IGaas foikau))
Aiget U6 forzre &1 (dcaiferd adaTeied 8 sgler|)
e A J @ B (3BTt 7 IR
Sfp™0T 51 B Bl ART| (FRS P oA BISCS H IR 1)
HHC 38! et Tt 31 (e HifeTu)
ITeftSTt e A St (I Tt fafae))

AT o1 3¢ B 7 fe | (PR o1 o1 ferlaul)
Collector (337 2T o1 31ef fgeat & ferfam))

fasegt @l oregt @1 aref Beclt & forzrase ara=it & wRiver Hifem
a) 3rsite

b) 3wt

c) Agd

d AR

e) &4t T |

2x3=6)

(10 % 1 =10)

(2x2%=35)
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DICS1
B.A./B.Com./B.Sc./ BHM/BBA/BBM
DEGREE EXAMINATION, JUNE/JULY -2019
First Year (Part - I)
LH.C.
Time : 1% Hours Maximum Marks : 50

SECTION - A
Answer any two of the following 2 x13=26)

Q1) Describe the administrative system of Shershah.
DO (B80S o080 DHBoHL.

02) Explain the great bath
B35 T edEB0 BN,

03) Describe legacy of British rule.
D3R, 9B oY), T30 DSBOEIB0.

04) Describe contribution of Cholas to art and culture.
59 50000 $0:)yD8 Tho @oE), HFSER0K80 D000,

05) Explain cultural conditions under Satavahana.
FoETTO00 TN 063 @”oéw®§ é@?ge‘éo@éo DAY,

06) Describe Non co - operation movement.
QAT AOPESED €:dgR0:30000 B0

SECTION - B
Answer any Three questions B x4=12)
07) Raja Ram Mohan Roy
TPLPTPa0 AT T°A%0

08) Impact of Western countries.
5"%71) §O TPROES GI0E), (9755000

09) Bhakti Movement
38 €tigoso0
010) Guptas
SOV
Q11) Buddhism
SEARERINY

Q12) Veeresalingam
DB¥doro

Q13) Mahajanapadam
50558230 P30



Q14) Sufism
Brhesso

SECTION - C B x4=12)
Q15) Fill in the blanks :
a) is the holy book of muslims.
DDDDD B0 DS (Ko
b) religion was founded by Mahavera Swamy.
DODDD D850 SoTVTTN TG0 L20BT0.

c) Raja Ram mohan Roy abolish
PR OPR) DITPD TPO5%0 B S8 DD

d) Non violence means
©923°0R eI VDDV

016) Choose the correct answer
a)  Britishers came to India as
3580 ePEBBED0HE O DB FB.

i) Sailors i) Traders
TRE0 gD

iii) Rulers iv) Spies
TPeP0 KIGeaeE000

b) Akbar’s wife was

B30 70y

i) Jodha Bai ii) Roopmati
&£ 2o EFHR08

iii) Chandrakala iv) Padmavati
JoLEY D58

c) Vivekananda was disciple of
DBSH0ES Biagear IS

i) Ram Krishna Paramahamsa
TPB0ER D85 TP

ii) Raja Rammohan Roy
TPeTTo0 T T°0%0

iii) Vidya sagar
E)O'C’esﬁn?ﬁg

iv) Mahatma Gandhi
B0t

d) Krishna Deva Roy ruled over.
ERBH0°0DH OOV

i) Orugallu ii) Vijayanagarm
e.oone NLEevriafele
iii) Kalinga 1iv) Magadha

§Qon 301583



Q17) Match the following :-

1)  Satya Graha
Nty

2)  Mughal
[SeRliaevbuion

3) Kalinga
sQoi

4) AP
€308

a)  Orissa
&;63”(3
b)  Veeresalingam
D3B¥doro
c) Agra
S
d)  Gandhiji
roded

*00¢
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DBCO 11
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
First Year
BUSINESS ECONOMICS
Time : 3 Hours Maximum Marks : 70

SECTION - A (4x3=12)
Answer any four of the following questions

Q1) Economic and Non - Economic activities.
0% 5000 eg8SS STgETred.

02) Consumer Surplus
DABIHETEID QoI

03) Exceptions of Law of Demand
A5r0d S BTBo0oHW

04) Income elasticity of demand.
oAb Gl TS HE0

05) Price discrimination.
&6 DTEED

06) Quasi Rent
580 greato

07) Per Capita Income
HBS0 e30°AO

08) Balance of Trade
HEE DB

SECTION - B 2x8=16)
Answer any two of the following questions

09) Distinguish between Micro and Macro Economics. State their significance.
SCEPRAEICIVELR VS @Cg%@“@ 50655 110 55Ty 390100, 73 (rrE00g)5Esy BenHV00.

010) What is price elasticity of demand? Explain the  various methods of measuring price
elasticity of demand.
38 G370l T5EBB0 GBI 2 IV $oB0Y DEBERB DBBODB0.



011)

012)

013)

014

015)

QI1¢6)

017)

Q18)

Explain the determination of equilibrium output and prices of firms under monopolistic
competition?
D550’ 950F 050 50050 (56 AYAHOD> HE 80800,

What are the causes and consequences of business cycles?
TGS BEe0 DTS SET0 5500 Ted $0d SR H0eTETem DH00HL.

SECTION - C (3 x14=42)
Answer any three of the following questions

Explain the applicability of law of diminishing  returns in Agriculture and Industry?
$o (BP0 DTToBB0D D00, ed BEHIAD $0Abe FOFAE Sorod’ BIBD AT,

SO0,

Explain the cost - output relationship in the short - run and long - run.
Qgoy 0B ég?@oés ESND — H5a%0 [oLOHPOR DXO0D[0.

Define monopoly? Explain the equilibrium of the firm under monopoly.
b§3“5833583\)o 96530@83\)0? N 3‘58335550&68 ééﬁo@t’@?so 10000 D009

What is National Income? State different methods of measuring National Income.
2PHOL LITPOHO0 BHTRAL? 2PHOL eraiTdy B3 VG DEHD BaoDHBI0?

Explain the modern theory of wages.
BES IS TS0 H00D HO0HD.

Briefly explain the role of WTO in promoting International Trade.
SoSTHAD TGS eONAE AD FE> B8 JSdoBo
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02)

03)

04)

05)

006)

07)

08)

DBCO12
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
First Year (Part - IT)

Financial Accounting - |
Time : 3 hours Max. Marks : 70

SECTION - A 4x3=12)
Answer any four of the following questions
DFT TR0 (HEOE BECTIT0 FPAD0G.

Accounting process
eoedoh (P8ah

Suspense account
Q9P PeBP

Cash discount and Trade discount
SIS BRI, SE8D G0N

Classification of Accounts
PT0 5O

Rent paid in advance Rs. 700, O/S wages and salaries Rs. 1,200 and 15,000, depreciation
on building 2,000, on furniture 1,500. Pass adjustment entries for above transactions.
So0osor Y0NS @B EF. 700, IDoITeRD IBred Ho0Aks dores S 1,200 $o0AH0

15,000. 350°0 > SEOE® 2,000 ;ﬁ&sé 1,500. 2 Dg9T°070 B D8eIead 500 EeaoG.

Difference between Joint venture and consignment.
55D 006585 639G 5o Soggie S5 Beod.

Parties of bill of exchange.
ALY o3w§bﬁ°§®o

Types of provisions and Reserves.
DG T DTyEss (e ) 5000k Bestiogen



SECTION-B (2x8=16)
Answer any two of the following questions
DB Tots PV SIPTTLD ARG

09) Explain the advantages and disadvantages of Accounting.
wZoedoh B8 o°gf SaLeds DBBoS0G.

Q10) Journalize the following transactions.

2015
Mar.

(U, NS

8

Mr. Prasad commenced business with cash 50,000
Deposited in bank account 15,000

Bought furniture by cheque 2,000

Sold goods to Aruna and Co. 2,500

10 Paid Karthik by cheque 925 discount 75
15 Cash sales 25,000
18 Withdraw goods for personal use 500
25 Paid for advertisement 500
28 Withdraw from bank for office use 1000
31 Received commission 1,500

&3 (08 JgOTFrOEd DTV PO

2015

85\7’@1) 1
2
S
8
10
15
18
25
28

31

B8 50,000 08 T5ITO (FEONONT

505 rerE’ GImeed DDA 15,000

D%, T0° 035 Tikof'en 2,000

@58 06 § K e SSHe 2,500

5285 £ B, 570> IYoDBO 925 VS Gees 75
SN 395700 25,000

T0mr8 OB HEEW 500

(5505 3IYoVHE 500

5950 SRo DAGo ergosd $o0d D3O 1000
S50y BB 1,500

Q11) Prepare a three column cash book from the following details.

2016
April 1

o0 W N —

Cash in hand Rs. 1,200, Bank overdraft Rs. 4,200

Cash sales Rs. 6000

Deposited in bank Rs. 6,200

Cash received from Ajay Rs. 3,500 discount allowed Rs. 500

A Cheque for Rs. 2,980 received from Krishna full settlement of his account
Rs. 3000



15 Cheque of Krishna Deposited in bank

18 Cash withdrawn from bank for office use 1500
25 Dividends collected Rs. 2000

28 Goods purchased on cash Rs. 1,200

30 Cash in Excess of Rs. 200 was deposited in Bank.

BIHS 3RS DSCOT 5055 S50 B e SIS Do,

2016

N

1 388 516 8T 1200, ergo L3568 4,200

1 QRGO 959500 djq: 6000

2 erged” AP IO 8T 6,200

S @30l $00G FNPO ST 3,500 FUNS G 8 500

8 ZR D00 TRHORNS 3,000 00TIE J°G DOUBONT HNS D5, 8T 2,980
15 ergoHE Gree] DS §0.3%,

18 €910 &G0 ADBO ergoH o0 HBE 1500

25 ST EAGG & 2,000

28 SHEK % Fofes 6F 1200

30 oS Arees TS G 200 K03 IS B Je.

Q12) From the following particulars prepare bank reconciliation statement as on 31* December,

2015

a) Bank balance as per cash book was Rs. 15,000

b) Cheques issued but not cashed prior to 31  December 2015 amounted to Rs. 2,000.
c) Cheques paid into bank, but not cleared and credited Rs. 2,800

d) Cheques received but not sent for collection 500

e) Credit side of bank column cash short 50

f) Insurance premium 300 debited in only pass book.

g) Bank charges debited twice in the passbook 10.

h) A customer directly deposited in the bank  account of concern was Rs. 2,000.
G08 S555550r0 850G 31.12.2015 & 505 Jog® BBoSODH 5630 SAE> BAod.

) SN DB (H5°C0 egotd e djq: 15,000

D 20 DS 31.12.2015 7638 Trpen 0 Do ET 2,000

D) Greed B o) oS BTe0 SO & 2,800

D) DS DL 0T ergoEE HOHBS EF 500

D) BRSO &5 DB 50 BENS ErGIEL.

22) DI PAAHO 300 T HVES” HTSD> BAES owSd.

8 R DS Botd P82 G5 e90008 250 PEL 10

£) 28 PTTE H03 e FR8 JEorw woBdIO 2,000



SECTION-C (3x14=42)
Answer any three of the following questions
BT BT PHPD DT [FPO0Oc.

Q13) Discuss the importance and purpose of final accounts.
$500A0Y BEY ErE00grgd) ared S0y SOyokoc.

Q14) On1 -7 -2014 XYZ & Co. Purchased a machine for Rs. 75,000. On 30 - 9 - 2014
another machine was purchased for 40,000. The company sold the first machinery (i.e. 1 -
7 - 14) due to obsolute for Rs. 25,000 on 31 - 12 - 2016. On the same day they
purchased another machinery for Rs. 35,000. The company closes their books on 31
December every year. Prepare machinery account for the year ended 31% December, 2017
assuming the depreciation was charged on fixed installment method @ 10%. P.A.

172014 3 f§* ©0& § 25 o) 6F 75,000 0% Fofi'es IV, 30 - 9 - 2014 5 358
AoEFR) ET 40,000 O ERX0R 00 B0, 31 — 12 — 2016 & 00853 adoo (1-7
— 14) D3 RO T ST 25,000 O AT, @8 BOD 0T Ao & 35,000
0% THof'eo DT T PO VoSSBT G0wE 31 & PTed JABT RIT000Te DGO
BS°E0 SEHEDH DTYEN B, HoSHHTIS 10% SIS0 AT DT 31 &Gowd 2017
& eoBBodly K058$10VE Coo FETs BAITE: BAbod.

Q15) Following is the Trial Balance of Sairam as on 31% March 2017. Prepare Trading and
Profit and loss account and Balancesheet.

Capital 1,00,000 Drawings 18,000
12% Loan from Ajay 15,000 Buildings 15,000
Commission received 4,500 Furniture 7,500

Sundry Creditors 10,000 Motorvan 25,000

Discount received 3,000 Interest on Loan from Ajay 900
Sales 1,00,000 Purchases 75,000

Opening stock 25,000 Wages 2,000
Establishment exp. 15,000 Sundry Debtors 28,100

Bank Balance 20,000 Insurance 1,000

Adjustments :-

a)  The value of stock on 31.3.2017 was Rs. 32,000.

b)  Outstanding wages 500, prepaid insurance 300.

c)  Depreciate buildings at 10% and motorvan 20%

d)  Provide reserve for bad debts at 5% on debtors.

31.3.2017 %3 0200750 GBY), (G080 ©OSET K008 SUED CrHELe T, el ebyo 5630

BOITED AL,



OIS0 1,00,000 JP0es PESPR0 18,000

12% €923050 5006 22008901 S,00083:50°0 15,000
S0P BRI 4,500 30156 7,500
DS 2000£3T° S0 10,000 37¢5 Tgd 25,000
SO GTEed 3,000 €23050 20830 I :)Sc,f‘g 900
PRISCN 1,00,000 SH0R% 75,000
PrSogs HEE 25,000 RS5O 2,000
b;o“aé PEQD 15,000 DAL 222003 28,100
20 Doy 20,000 DI 1,000
QEeTe

D) 31.3.2017 T°¢38 [EOZ Do 83 32,000
WD DDoIBedD oo 500, Sovoorr OIS LB 300
D) PITO D 10% S0 35700 TS 2 20% SEAHE

D) e00ea(e o erdo 20 DO 5%

Q16) Vikas draws a 3 months bill on vishal for Rs. 4,000 on 1.4.2012. Vishal accepts the bill
and sends it to vikas who discounted it with the bank for Rs. 3,940 Vikas sends Y4" of the
amount that is Rs. 985 to Vishal. On the due date Vikas could not send his amount to
Vishal and Accepts a bill for Rs. 4,500 for 3 months which is discounted by Vishal for Rs.
4,440 Vishal Sends Rs. 330 to Vikas. Before the due date of the second bill, Vikas
becomes insolvent and 25 paise in a rupee was received from his estate. Give journal
entries in the books of both the parties.

1.4.2012 & I5°0 I7°6 2 EF 4000 5 3 J00 5006 @G, DTS T ?ocs%é’B 30 I

DO, ITD TV GF 3940 B ergond EPeS Tred ITH D 5 Doy W G 985
DES Sorek. 1D BOD ITT T FIHEVS FBayy ITE & So3E. DTS TV OF
4,500 © 3 Roo TVod ITH MO BOF. TS eIVOED eroHe” EF 4,440
GRS B2 8T 330 TR BT, Te BoES 52008 KGO DO 503080 ITD Srer HIE.
@B &5 $00c STr0008 25 eV THIW0 WONA.

330 BT DeT DB FO0OG.

Q17) Rectify the following errors by opening suspense a/c wherever necessary.
a)  Sales book under cast by Rs. 200.
b)  Goods purchased for Rs. 1,000 recorded through sales book.
c)  Furniture purchased for Rs. 12,000 recorded in purchase book.
d)  Goods sold for Rs. 2,000 to Kiran were posted to the credit of his account.
e) Cashreceived from Gopi Rs. 1,000 was not entered in cash book.
Bob Syei WBIERN T ST PIT° TP 0 BH00BOG.

) SRTO DRES ST 200 S5 SIHeGSO.



Q18)

9
)
?)

D)

Fofien TP HE0% 5F 1,000 w350 HPES” SIFG FEI0.
T0R @0 T2 HOYH 83 12,000 Fof'en HP5os’ $373od.
35655 @S BE0E G 2000, 9SG grard BéeS I,

72 500 SOy BN BT 1000 Hes> PSS SIFEsB.

On 1 - 1 - 1992 Bharath coal company Limited consigned to Kalaram of Kurnool. 1000
tons of coal, The pit cost of the coal being Rs. 100 per ton. The company paid Rs. 10,000
towards freight and insurance. Kalaram took delivery of the goods consigned on 10%
January 1992 and immediately accepted a bill drawn on him for Rs. 50,000 for Two

months

a)  On 31 March 1992 consignee reported that there was a shortage of 50 tons of the
coal.

b) 800 tones were sold at Rs. 130 per ton.

c) He paid godown rent Rs. 500, Insurance Rs. 500, and selling expenses Rs. 1,000

d)  He entitled to a commission of 4% on the sale proceeds. Show ledger account in the

books of consignor. Assuming that the consignee remitted balance due by a dratft.

1-1-1992 & g6 &7 5020 T, SETEED 500 1,000 €500 €755 ESD5B00e0
2 DOV, (O By TR POE BT 100 (P AFoooDD. o2 T Yo 2e5 B0k
SR PENEO BT 10000. 10-1-1992 & 500 BEEI DEH0SED 8 50000 ©% Tod
S0 Heg D oS o BT 0. 31-3-1992 55°C°0 (308 Gorr BDALBEAOLTE.

)
)
)

)

RE0%50 DoBE0 BB BoBL0E” 50 €50 E71H §1E 00 BV
800 EOINOO LN ST 130 7 5350 BT,
8¢ DYODD PBLO &8 VGO &0, AGoR 6 ST 500 Y EF 500 B3RS
PSR djq: 1000.
©IRTO SRPE) 2 T TS EWHS 4%

05 5000 DITE ESSootn PEE, IS PE o BNt S0 BDoBHeds
JOGH00 (TR DO,
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Total No. of Questions : 18]

DBCO13
B.Com. DEGREE EXAMINATIONS, JUNE/JULY - 2019
First Year
Industrial Organisation & Management
Time : 3 Hours Maximum Marks : 70

SECTION - A (4x3=12)
Answer any four of the following questions

Q1) Aids to trade
ST SeEOTATes

02) Features of Sole Trade
P08 TGS OFETRO

03) Explain features of MNC’s
250 HAL bob@@ 50 DX00DA0.

04) Memorandum of Association
QADRITRIP Do

05) Co - operative societies
I8 bob@@o

06) Working capital
DT°GT7ED OTOG0

07) Globalisation
PHoDESe

08) Delegation of Authority
QIO (R0

SECTION - B (2x5=10)
Answer any two of the following questions

09) Define business and write the functions of business.
5"5@@3& 5055305), 5"5@(58&)\) O3JJ§Z;§3(;3\)®§J 10000 EPONOCG.

Q10) Define organization. What are the features of a good organization.
S350 DBDOBOG. 2.8 00D $5:55 oo, OFETeR V& Sod.

Q11) What are the features and advantages of H.U.F.
STPOCST” @ALE Eoe02) TGS OFETOL S00ATY PAITreTren



012)

013)

014

015)

QI16)

017)

Q18)

What is prospectus? What are its contents?
HOTON B0 OSTRIA? WOCE'D 0Tt BO0Y0.

SECTION-C (3x16=48)
Answer any three of the following questions

What are the features of partnership and Explain its superiority on sole trading?
BN 0500 OFETE) D8P, o TEIrEH Kol @8 O DGor Qb @osE DNdoSod.

Explain delegation of authority. What are the guidelines to make delegation effective?
Tlakyle! @Q"U’Kb D900W0K0. QTS @Q"U’Kb bﬁg&ﬁw BADoLE Ko SVelalep] B9

Write about the private and public company.
R0 D00 (FEHS S0 NGy ErebomN,

Define management? State it’s features and functions of management.
DBTED BITRN0? DS OFETOR 500050 DGowso BIALEAE.

What is planning? Write the steps in process of  planning.
HeT8E5Es TR ? Rerdssn PRANS” IV SFoBs STHoS.

Write about the role of SEBI in capital market.
Boreess SPTESE"R 28 T DHOOB0.

000



Total No. of Questions : 18]

DBCO14
B.Com. DEGREE EXAMINATION, JUNE/JULY - 2019
First Year
Quantitative Techniques - I
Time : 3 Hours Maximum Marks : 70
SECTION - A (4x3=12)

Answer any four of the following questions

Q1) Limitations of statistics
ReT°057°g HOJoBoed

02) Schedule
3)\6@?5@3

03) Concept of skewness
?_Z){;ﬁo?so o3w§b 209

04) Define correlation
QPR02I0E08 ASgWoK00

05) Regression equations
SOBD BATFESEB000
06) Good average
3000 DR

Q7) Any three types of sets
$ood’ DB o 5w

08) Meaning of matrix
3BT A%, g0

SECTION - B 2x8=16)
Answer any two of the following

09) Find out median from the following data :
808 SEroFBa8E Jo¢S5HSH00 SN S0k,

Class intervals : 0-200200-400400-600600-800800-1000 1000-1200
(SERE e908T°e0)

Frequency : 80 165 230 80 32 13
(Fe:D550)



010) Compute standard deviation for the following distribution :
808 &5°07°08 (PHTedE DIodto oM S0k.

Wages(Rs.) : 9 12 15 18 21 24 27 30

REVEISY
Workers : 20 60 150 250 200 120 50 40
[CROSSSISY

Q11) Define statistics. State the characteristics of statistics.

w0l 77 ) AEGDOD, OFETOR B0t

Q12) Find out the co - efficient of skewness from the given data :
8od S5TroF0 $o0D IVK0§HEITO SR ok

Size (X) 3 4 5 6 7 8 9 10
" 7 10 14 35 102 136 43 8
SECTION - C Bx14=42)
Answer any three of the following questions
013) Explain the types of correlation with examples.
D5R0800808°R) BEOB GIETEe0s 500508,

Q14) Calculate co - efficient of correlation from the following.
o8 BEPTE0 B00D) DTPR02I0¢ KOEsE0 ESoR"Hoc.

X : 100 110 115 116 120 125 130 135

Y 18 18 17 16 16 15 13 10
Q15) Briefly explain the following :

8o T3 rx30m DI0OWOC :

a) Mode
b) Probable error
¢) Union of sets
d) Ven Diagram
a)  erOFEID
b) Bogrige 0
c) DB SAyedo
d) S I@Heo
016) Find the two regression equations from the following.
808 &8°0%80 5000 Bk (EINH0R DATECETOL FPHODOG.

Xx: 1 s 3 2 1 1 7 3
y : 6 1 o0 o0 1 2 1 5




017)
IfA={2.4. 6} B=1{1.3.5.7} C = {6. 7}. then find

a) (A uB) uC

b) A U(BUC)

c) (A UB) nBuUC)

d) (AnB) uC

A =424 6}B ={1,3.5, 7} C = {6. 7}

BABLORBABTA0D Eod T°e3 Kedood.
a) (A UB) UC
b) A UBUC)
©) (A UB) NBUC)
d) (ANB) UC

018)
For 2 matrices A and B

A [1 2} 4 5 g
= and B =

3 4 [9 m}
i) FindA+BandA-B.

i) Calculate AB and BA and Verify the result
AB=BA
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